




Stat 13 HW_5_2 
 

(a) se(x1-x2) = square root(S1^2/n1+ S2^2/n2) 
                      = square root(1.82^2/53+1.53^2/60) 
                      = 0.3186 
 
(b) The 2-standard-error interval is 7.90-4.30±2×0.3186=[2.96, 4.24] 

 
     (c) As this interval is well away from zero, sexual content seems to  
           make a difference. The true mean number of correctly  
           remembered brands under these conditions is likely to be greater  
           when sexual content is present by somewhere between 3.0 and 4.2  
           brands than when it is absent. There is too little information for  
           us to criticize the experiment. We would hope, however, that the  
           complete set of students was split into two groups at random. 
 
 
 


